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kq}ƒL¡À]W¥¨Oç j]¡SÇw°¥ :
S\Lh|°¥¨V D¾qU IuOfL¢ fOa°OÐf]jO oOÒV
fLRu RWLaO¾]q]¨OÐ j]¡SÇw°¥ yèÈU vLp]¨OW.
D¾qU j¤SWºfV KqO NkSf|W D¾q¨asLy]¤ (OMR)
BeV. j]¡SÇw¾]jOSwxU oLNfSo y}¤ fOr¨OvLjOU,
D¾qU IuOfOvLjOU kLaOçO.
1. j]°tORa SrL¥ jÒ¡ (KqO Wç]p]¤ KqO A¨U

oLNfU) v|©oLp] j]°tORa NkSvwj kNf¾]¤
fÐ]q]¨OÐfO SkLRs IuOfOW.

2. CT kq}ƒLkOñW¾]¤ 100 S\Lh|°tOºVV. S\Lh|°¥
fLRu RWLaO¾]q]¨OÐ NkWLqU NWoRÕaO¾]p]q]¨OÐO.
• 1 oOf¤ 40 vRqpOç S\Lh|°¥ yLoPz|

wLNñ¾]¤ j]ÐV
• 41 oOf¤ 60 vRqpOç S\Lh|°¥ Ye]f¾]¤ j]ÐV
• 61 oOf¤ 100 vRqpOç S\Lh|°¥ wLNñ¾]¤ j]ÐV

3. KLSqL S\Lh|¾]jOU D\]foLp D¾qU RfqR´aO¾V
wq]pLp D¾qR¾ yP\]Õ]¨OÐ vQ¾U oLNfU fLRu
RWLaO¾]q]¨OÐ v]i¾]¤ kP¡¹oLp] WrOÕ]¨OW.

4. IsæL S\Lh|°¥¨OU KqO oL¡¨V v}fU.
5. j|Pj oL¡ V̈ Csæ. KLSqL wq] D¾q¾]jOU KqO oL¡ V̈

v}fU sn]¨OU.
6. j]°tORa SkqV S\Lh| kOñW¾]R£SpL D¾q¨a&

sLy]R£SpL KqO nLY¾OU IuOfOvL¢ kLa]sæ.
7. rlV v¡¨]jO Svº] CT mO¨VRsã]R£ AvyLj

nLYU DkSpLY]¨LvOÐfLeV.
8. S\Lh| WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV.

A, B, C, D IÐ} jLsV Aƒq SWLcOWt]sOç S\Lh|
kOñW°tLeV j¤WOÐfV.

9. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W
SWLt¾]¤ S\Lh| kOñW Aƒq SWLcV A\ÿa]\ÿ]ŸOºV.

10. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh| kOñW
Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]a¾]¤
SqXRÕaO¾]p]q]¨OU.

11. j]°¥¨jOvh]\ÿ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU
v|f|ñoLp SWLc]sOç S\Lh| kOñWoLeV
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa
èÈp]¤RÕaOS¾ºfLeV.

12. j]°tORa S\Lh| kOñW¾]Rs Aƒq SWLcOU,
OMR x}ã]Rs Aƒq SWLcOU KÐO fRÐpLReÐV
DrÕO vqO¾OW.

13. S\Lh| kOñW NWojÒ¡ kOrU\ŸpORa vsfO vw¾V
oOWtã¾Lp] S\¡¾]ŸOºV.  NWo jÒ¡ CsæL¾ S\Lh|
kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq
SWLc]sOç  S\Lh| kOñWU oLã] vL°OW.

INSTRUCTIONS TO CANDIDATES :

Read the following instructions before you answer the
questions.  Answers are to be given in a SEPARATE OMR

ANSWER SHEET provided inside this booklet.  Break the
seal and start answering the questions once asked to do so.

1. Please write your ROLL NUMBER very clearly (only
one digit in one block) as given in your Admission Card.

2. There are 100 questions in this test.  The questions are
arranged in the following order :

• Questions 1 to 40 belong to Social Science Subjects.

• Questions 41 to 60 are on Mathematics Subjects.

• Questions 61 to 100 are on Science.

3. Select the most suitable answer for each question and
completely darken the circle corresponding to the correct
alternative as shown below.

4. All questions carry ONE MARK each.

5. There is no negative mark.  Every correct answer will be
awarded one mark.

6. Do not write your name on any part of the Question
Booklet or on the Answer Sheet.

7. Rough Work can be done in the space provided at the end
of this Booklet.

8. The Question Paper will be given in the form of a Question
Booklet. There will be four versions of Question Booklets
with Question Booklet Alpha Code viz. A, B, C, D.`

9. The Question Booklet Alpha Code will be printed on the
top left margin of the facing sheet of the Question Booklet.

10. The Question Booklet Alpha Code allotted to you will be
noted in your seating position in the Examination Hall.

11. If you get a Question Booklet where the Alpha Code does
not match to the allotted Alpha Code in the seating
position, please draw the attention of the invigilator
IMMEDIATELY.

12. Check whether the Alpha Code given in the Question

Booklet and the OMR Sheet are the same.

13. The Question Booklet Serial Number is printed on the
top right margin of the facing sheet. If your Question
Booklet is un-numbered, please get it replaced by new
Question Booklet with same Alpha Code.
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There are 100 questions in all.  For each question

four alternative answers are given marked as

(1), (2), (3), (4).  From these, find the most

appropriate answer.  The number denoting this

answer is there in the answer sheet against the

question number concerned.  Darken the circle

with Blue/Black Ball Pen only.  Record the

answers thus in the OMR answer sheet only.

Do not write anything in the question booklet

except your Roll Number on the cover page and

rough work in the space provided for the

purpose.

1. In Saudi Arabia voting right was extended

to women in the year :

(1) 2005 (2) 2015

(3) 2016 (4) 2019

2. Mandal Commission Report is related

to :

(1) Reservation to Backward Classes

(2) Centre-State Relations

(3) Panchayati Raj

(4) Administrative Reform

BRW 100 S\Lh|°tLeV DçfV. KLSqL
S\Lh|¾]jOU (1), (2), (3), (4) IÐV
AapLtRÕaO¾]p jLsV  D¾q°¥ v}fU
RWLaO¾]ŸOºV. Af]¤ JãvOU AjOSpL^|&
oLpfOU wq]pLpfOoLp    D¾qU WRº&
¾OW. CT D¾qR¾ WOr]¨OÐ jÒ¡
D¾q¨asLy]¤ (OMR x}ã]¤)   AfLfV
S\Lh| jÒq]jV Sj¡¨V DºV. wq]pLp
D¾qR¾ yP\]Õ]¨OÐ vQ¾U j}s/
WrOÕV ox]pOç mL¥Rk¢ DkSpLY]\ÿV
WrOÕ]¨OW. D¾q°¥ ANkWLqU OMR

D¾q¨asLy]¤ oLNfU SqXRÕaO¾OW.
S\Lh|°ta°]p mO¨]R£ Wvr]SÓ¤
j]°tORa SrL¥ jÒqOU, rlV v¡¨]jO
Svº] fÐ]ŸOç òs¾V ja¾OÐ
WOr]ÕOWtOU Ku]RW oRãLÐOU IuOfqOfV.

1. yTh] ASrm|p]¤ Nñ}W¥¨V yÚf]&
hLjLvWLwU j¤WRÕŸ v¡xU :

(1) 2005 (2) 2015

(3) 2016 (4) 2019

2. fLRu RWLaO¾]ŸOçvp]¤ JfOoLp]
mÌRÕŸfLeV o¼¤ WÚ]x¢
r]SÕLŸV ?

(1) k]SÐL¨ v]nLY yUvqeU

(2) SWNÎ&yUòLj mÌ°¥

(3) kµLp¾V qL V̂

(4) nqe kq]xVWLqU
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3. Apv]sæL¾ nqeZajàV mLiW&
oLp]ŸOç NkñLvj JfLeV ?

(1) SnhYf] R\áOÐf]jOç v|vò
Cf]¤ D¥R¨LçOÐ]sæ

(2) SnhYf] R\áL¢ ItOÕoLeV

(3) IuOfRÕaL¾ nqeZajpLp]&
q]¨OU

(4) SnhYf] R\áOÐf]jV NkSf|W
jaka]NWoU Bvw|oLeV

4. CÍ|¢ kL¡sRo£]¤ D¥RÕaOÐfV :

(1) CÍ|¢ Nky]c£OU, SsLWynpOU,
qL^|ynpOU

(2) SsLWynpOU, qL^|ynpOU
W|Lm]jãV oNÍ]oLqOU

(3) CÍ|¢ Nky]c£OU, NkiLj&
oNÍ]pOU, SsLWynpOU

(4) SsLWynpOU, qL^|ynpOU

5. CÍ|¢ nqeZajpORa "BÄLvOU
zQhpvO'&RoÐV m].B¡. AUSmhVW¡
We¨L¨]p oTs]WLvWLwU :

(1) yof~¾]jOç AvWLwU

(2) y~LfNÍ|¾]jOç AvWLwU

(3) nqeZajL kq]zLq°¥¨Oç
AvWLwU

(4) yLUØLq]WvOU v]h|Ln|Lykq&
vOoLp AvWLw°¥

6. CÍ|p]Rs Bh|R¾ "SsLWVkL¤' :

(1) ^ð]yV RRv.v]. \NÎ\PcV

(2) ^ð]yV k]jLW] \NÎ SZLxV

(3) ^ð]yV  qÆ¢ SYLSYLpV

(4) ^ð]yV Nkh}kV WOoL¡ RoLzÎ]

3. Which one of the statements is applicable

to Rigid Constitution ?

(1) It contains no provision for

amendment.

(2) It is easy to make amendments.

(3) It must be an unwritten constitution.

(4) It requires special procedure for

amendments.

4. Indian Parliament consists of :

(1) Indian President, Lok Sabha and

Rajya Sabha

(2) Lok Sabha, Rajya Sabha and Cabinet

Ministers

(3) Indian President, Prime Minister and

Lok Sabha

(4) Lok Sabha and Rajya Sabha

5. The Fundamental Right which

B.R. Ambedkar considered as the heart

and soul of Indian Constitution :

(1) Right to Equality

(2) Right to Freedom

(3) Right to Constitutional Remedies

(4) Cultural and Educational Rights

6. The First Lokpal of India :

(1) Justice Y.V. Chandrachud

(2) Justice Pinaki Chandra Ghose

(3) Justice Ranjan Gogoi

(4) Justice Pradip Kumar Mohanti
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7. "j}f]j|Lp kOj@kq]SwLijLi]WLqU'
DhVnv]\ÿfV Iv]RapLeV ?

(1) CÍ| (2) Nm]Ÿ¦

(3) pO.IôV.I. (4) y~]ãVy¡s£V

8. fLRu RWLaO¾]ŸOçvp]¤ Shw}p
RIW|vOU yUòLj AvWLw°tORa
yUqƒevOU fÚ]¤ AjOqÆ]Õ]&
¨OÐf]jOç qLNì}p DkLpRoÐV
We¨L¨RÕaOÐfV JfLeV ?

(1) kµLp¾V qL V̂

(2) ofj]qSkƒf

(3) Rlcrs]yU

(4) h~]o¼s v|vò

9. SWqt¾]R£ wqLwq]vqOoLjU
zq]pLjRp ASkƒ]\ÿV WOrvLeV.
IÐL¤ yLoPz| yP\W°t]¤
zq]pLj k]Ð]sLeV.  Cf]R£ NkiLj
WLqeU :

(1) SWqt¾]R£ KTk\Lq]W RfLu]¤
SoXspORa vs]ÕU

(2) v¡È]\ÿ v]ShwjLe| NkvLzU

(3) y~WLq| DkSnLY vñO¨tORa
v]s¨OrvV

(4) yLoPz| Ds×Ð°tORa v]s¨OrvV

7. The power of Judicial Review originated

in :

(1) India (2) Britain

(3) U.S.A. (4) Switzerland

8. Which of the following is regarded as a

political contrivance intended to reconcile

National Unity with the maintenance of

State’s rights ?

(1) Panchayati Raj

(2) Secularization

(3) Federalism

(4) Bicameralism

9. The average income of Kerala is less than

that of Haryana.  But Haryana’s social

indices are below than Kerala.  This can

be reasoned on the fact that :

(1) Kerala employ more people in the

organised sector.

(2) Foreign remittance of Kerala is

higher.

(3) Private consumption goods are

cheaper in Kerala.

(4) Collective goods are cheaper in

Kerala.



ENG+MAL 6

Class – X SAT A

10. KqO qL^|¾]R£ RoL¾U Bn|Íq
Ds×ÐU IÐfV ?

(1) IsæL NkLgo]W, Caj]s, AÍ]o&
yLij Syvj°tOSapOU BRW
fOW.

(2) IsæL NkLgo]W&AÍ]o yLij,
Syvj°tOSapOU BRW fOW.

(3) fjfV v¡xU Ds×Lh]Õ]\ÿ IsæL
AÍ]o \q¨V&Syvj°tOSapOU
BRW fOW.

(4) f¢ v¡xU Ds×Lh]Õ]\ÿ IsæL
yLij°tOSapOU BRW fOW.

11. AãzL^¡ AjOkLf yUX| sn|&
oLWOÐfV :

(1) 14-15 vpyV NkLp¾]sOç
WOŸ]WtORa RoL¾U I¹R¾,
ASf NkLp¾]sOç WOŸ]WtORa
yV¨P¥ zL^¡j]s RWLºV zq]&
pV¨OSÒL¥.

(2) 14-15 vpyV NkLp¾]sOç
WOŸ]WtORa WæLyVV zL^¡ j]sRp
ASf NkLp¾]sOç BRW
WOŸ]WtORa I¹U RWLºV zq]&
pV¨OSÒL¥.

(3) 15-16 vpyV NkLp¾]sOç
WOŸ]WtORa WæLyV zL^¡ j]sRp
ASf NkLp¾]sOç BRW
WOŸ]WtORa I¹U RWLºV
zq]pV̈ OSÒL¥.

(4) So¤ kr´v KÐOosæ.

10. The Gross Domestic Product of a country

is :

(1) The sum total of values of all primary,

intermediate and final goods and

services.

(2) The sum total of values of all primary

and final goods and services.

(3) The sum total of values of all final

goods and services produced during

the current year.

(4) The sum total of values of all goods

produced during the current year.

11. The Net Attendance ratio can be obtained

when :

(1) The total number of children in the

age group of 14-15 years is divided

by the total number of children

attending school in the same age

group.

(2) The total number of children

attending school in the age group of

14-15 years is divided by the total

number of children in the same age

group.

(3) The total number of children

attending school in the age group of

15-16 years is divided by the total

number of children in the same age

group.

(4) None of the above.
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12. oLjv v]Wyj yP\]W We¨L&
¨OÐfV :

(1) BSqLY| j]svLqU, v]h|Ln|Ly
j]s, ^].c].k].

(2) BStLzq] vqOoLjU, kq]ò]f]
&BSqLY| & AvòW¥.

(3) wqLwq] vqOoLjU, ASqLY|&
ò]f], v]h|Ln|Lyj]s.

(4) oOWt]¤ yP\]Õ]\ÿv KÐOosæ.

13. WL¡x]W SoXsp]Rs vLp×L&^s
Sy\j yTWq|°¥ Ro\ÿRÕaOSÒL¥
DºLWOÐ oLã°Rt kã] j¤W]p]ŸOç
NkñLvjWt]¤ RfãLpfV WRº¾OW.

(1) WL¡x]W SoXsp]Rs AkP¡¹
RfLu]s]sæLpÜ kq]zq]¨L¢
Wu]pOÐO.

(2) v|LkLq Nkv¡¾j°¥ DS¾^]&
Õ]¨RÕaOÐO.

(3) jYq SWNÎ}WQf v|vyLp°Rt
SNkLÃLz]Õ]pV¨OÐO.

(4) R\rOW]a NYLo}e yUqUn°Rt
DS¾^]Õ]pV¨OÐO.

14. AyUZa]f RfLu]¤ SoXsL RfLu]&
sOWRt kã] fLRu j¤W]p]ŸOç
NkñLvjWt]¤ j]ÐOU AjOSpL^|&
oLpfV WRº¾OW.

(1) WPs] WOrvLReË]sOU kf]vLp]
S^Ls]sn|oLeV

(2) WPs] WOrvLReË]sOU RfLu]¤
yOqƒ]ff~U DºV

(3) Ro\ÿRÕŸ RfLu]¤ kq]yqU
j]sv]sOºV

(4) oOWt]¤ yP\]Õ]\ÿvW¥ KÐOosæ

12. HDI is indexed on the basis of :

(1) Health, Education status and GDP.

(2) Per  Capita Income, Environment

and Health status.

(3) Average Income, Health and

Educational status.

(4) None of the above.

13. Sort out the wrong statement, on the

impact of an increase in the irrigation-

credit facilities in the agriculture sector.

(1) It can remove the underemployment

in the same sector.

(2) Can stimulate commercial activities.

(3) It can stimulate industries in the

urban centres.

(4) Can revive small scale village

industries.

14. Pick out the appropriate answer from the

statements given, on the nature of

employment in the unorganised sector.

(1) Regular employment but low paid.

(2) Low paid but secured.

(3) Better working environment.

(4) None of the above.
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15. "WaR¨e]'RpÕã] \OvRa j¤W]p]&
ŸOç NkñLvjWt]¤ j]ÐOU wq]pLp
S^Lc] WRº¾OW.

(a) vLp× IaO¾pLt]Rj yUmÌ]&
\ÿ]aS¾LtU vLp×L f]q]\ÿavV
AyLÈ|oLp Avò.

(b) Ao]f ks]wj]q¨]¤, NYLo}e
Wao]akLaOWLqj]¤ j]ÐOU vLp×
IaO¾fORWLºV yUnv]\ÿfV.

(c) vLp×L&oOa¨]¤ j]ÐOç vqOoLjU
f]q\ÿav]jOç fOWRp¨LtOU
WOrvLp]q]¨OW.

(d) f¢ v¡xU, v¢k]\ÿ v]tjLwU
IÐfLeV CfV v]whoL¨OÐfV.

(1) (a), (b) (2) (b), (d)

(3) (a), (c) (4) (a), (d)

16. IôV.I\ÿV.^]&WtORa Nkv¡¾j&
°tOoLp] mÌRÕŸV fLRu j¤&
W]p]ŸOç NkñLvjWt]¤ j]ÐOU
RfãLp S^Lc] WRº¾OW.

(a) CTaV j¤WLRf AUY°¥¨V
vLp× sn|oLeV.

(b) BSqLY|&WOaOUmSƒo Nkv¡&
¾j°¥ ja¾OÐO.

(c) vLp×W¥ ̂ Lo| nPo]pORa v]aOfs]jV
DkSpLY]¨L¢ kLa]sæ.

(d) vLp×Wt]SÓ¤ ks]w CTaL&
¨OÐ]sæ.

(1) (c), (d) (2) (a), (b)

(3) (a), (c) (4) (a), (d)

15. Pick out the true pair from the statements

on the ‘Debt trap’ situation.

(a) Credit pushes a person to the

situation in which recovery is not

possible.

(b) The loan is taken from a village

moneylender at exorbitant rate of

interest.

(c) Earnings are not enough to cover the

repayment.

(d) It happens due to heavy crop failures

in the current year.

(1) (a), (b) (2) (b), (d)

(3) (a), (c) (4) (a), (d)

16. Pick out the false pair from the statements

on the working of SHGs, given below.

(a) Provides credit without collateral

securities.

(b) Concerned of health and family

welfare activities.

(c) SHG loans cannot be used for the

release of mortgaged land.

(d) No interest rate is charged on loans.

(1) (c), (d) (2) (a), (b)

(3) (a), (c) (4) (a), (d)
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17. 2011 Ry¢yyV NkWLqU CÍ|p]¤
JãvOU WOr´ ^jyLNÎfpOç
yUòLjU :

(1) y]¨]U

(2) AqOeL\¤ NkShwV

(3) qL^òL¢

(4) o]SyLrU

18. fÐ]ŸOçvp]¤ CÍ|p]Rs DxVe&
WLs¾]R£ yv]SwxfpsæL¾fV
JfV ?

(1) sP IÐV v]t]¨OÐ vqº
DxVe¨LãV

(2) oLUSYLxSvuVyV

(3) WL¤RRmwLX]

(4) o]SfLxVe \NWvLf¾]R£
WaÐV vqvV

19. D¾qk¡vÿf°t]¤ JãvOU Rf¨V
nLY¾LpOç WOÐ]¢ j]qW¥ :

(1) WLqSWLrU (2) z]oLNh]

(3) w]vLs]WV (4) yyVW¡

20. CÍ|pORa BRW òsv]yVfQf] :

(1) 3.28 hwsƒU \.W].o}.

(2) 32.8 hwsƒU \.W].o}.

(3) 3.28 sƒU \.W].o}.

(4) 328 sƒU \.W].o}.

21. YUYL jh]pORa vsfV&f}qSkLxW
jh]Rp f]q]\ÿr]pOW.

(1) SYLof] (2) YLeVcWV

(3) SWLy] (4) SyL¦

17. State in India with the lowest density of

population as per 2011 census :

(1) Sikkim

(2) Arunachal Pradesh

(3) Rajasthan

(4) Mizoram

18. Which among the following is not a

characteristic feature of Hot weather

season in India ?

(1) Hot dry winds called Loo

(2) Mangoshowers

(3) Kalbaisakhi

(4) Inflow of temperate cyclones

19. The Southern most hilly ranges of

Northern mountains :

(1) Karakoram (2) Himadri

(3) Shiwaliks (4) Zaskar

20. Total Geographical area of India is :

(1) 3.28 million sq. km.

(2) 32.8 million sq. km.

(3) 3.28 lakh sq. km.

(4) 328 lakh sq. km.

21. Identify the right bank tributary of River

Ganga.

(1) Gomati (2) Gandak

(3) Kosi (4) Son



ENG+MAL 10

Class – X SAT A

22. nNWL cLU j]¡Ú]\ÿ]q]¨OÐfV
Iv]RapLeV ?
(1) yfVs V̂ jh]p]¤
(2) ozLjh]p]¤
(3) SWLy] jh]p]¤
(4) j¡ÚhL jh]p]¤

23. CÍ|p]¤ XjjU R\pVfOvqOÐ
CqOÒp]qOWt]¤ 70 wfoLjS¾LtU
CqOÒLUwoOç oOÍ]p CjU :
(1) y]cRRrãV
(2) SzoRRããV
(3) oLYVjRRããV
(4) s]RoLRReãV

24. CÍ|p]Rs Wq]ÒV WQx]pOoLp]
mÌRÕŸ NkyVfLvjWRt v]s&
p]qO¾] wq]pLpv RfRqR´aO¨OW.
(a) \PaOU CT¡ÕvOoOç WLsLvò&

pLeV Bvw|U.
(b) CÍ|pLeV D¤kLhj¾]¤ qºLU

òLj¾V.
(c) CÍ|p]¤ YO^rL¾LeV JãvOU

WPaOf¤ D¤kLh]Õ]¨OÐfV.
(1) (a) &pOU (b) &pOU (c) &pOU wq].
(2) (a) &pOU (b) &pOU (c) &pOU RfãV.
(3) (a) &pOU (c) &pOU wq], (b) RfãV.

(4) (a) &pOU (b) &pOU wq], (c) RfãV.

25. CÍ|p]Rs c¨L¢ NaLÕV SoXsp]¤
WLeOÐ NkiLj o¹]jU :
(1) WrO¾ o¹V
(2) R\Ú¹V
(3) I¨¤ o¹V
(4) sLãRRrãV o¹V

22. Bhakra dam is built on :

(1) Satluj river

(2) Mahanadi river

(3) Kosi river

(4) Narmada river

23. The finest iron ore with nearly 70% iron

content being mined in India :

(1) Siderite

(2) Hematite

(3) Magnetite

(4) Limonite

24. Evaluate the statements regarding

sugarcane cultivation in India and choose

the correct statements.

(a) Requires hot and humid climate.

(b) India is the second largest producer.

(c) Gujarat is the largest producer in

India.

(1) (a), (b) and (c) are correct.

(2) (a), (b) and (c) are wrong.

(3) (a) and (c) are correct but (b) is

wrong.

(4) (a) and (b) are correct but (c) is

wrong.

25. The typical soil type found in the Deccan

trap region in India :

(1) Black soil

(2) Red soil

(3) Alluvial soil

(4) Laterite soil
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26. SWqt¾]Rs f}qShwoes]¤ j]ÐOU
iLqLtoLp] sn]¨OÐ NkiLj iLfO :

(1) pOSrj]pU

(2) ScLtRRoãV

(3) s]YVRRjãV

(4) SoLeRRyãV

27. 1 : 50000  SfLf]sOç KqO iqLfs}p
nPka¾]¤ 2 Ry.o}. j}tvOU 2 Ry.o}.
v}f]pOoOç KqO \fOq NY]cV
Nkf]j]iLjU R\áOÐ pgL¡À
v]yVf}¡¹U :

(1) 4 \.W].o}. (2) 16 \.W].o}.

(3) 2 \.W].o}. (4) 1 \.W].o}.

28. yP\jWt]¤ j]ÐOU BSYLtvLfSoRfÐV
f]q]\ÿr]pOW.

yP\jW¥ :

• DSkLxVe D\ÿo¡ÇSoXsp]¤
j]ÐV DkNiOv}p j|Pjo¡Ç
SoXsp]Ss V̈ v}wOÐO.

• SrLr]‚V SlL¡Ÿ}yV, l|Pq]pyV
l]lVã}yV, xVr}¨]‚V y]WVyVã}yV
IÐ} SkqOWt]¤ Ar]pRÕaOÐO.

(1) vLe]^|vLfU

(2) kµ]ovLfU

(3) NiOv}pvLfU

(4) o¦yP¦WLãOW¥

29. Jx|p]¤ v|vyLp vfVWq]¨RÕŸ
Bh|R¾ qL^|U JfLp]qOÐO ?

(1) ^ÕL¢ (2) RR\j

(3) v]pãVjLU (4) y]UYÕP¡

26. An important mineral largely obtained

from the beach sands of Kerala :

(1) Uranium

(2) Dolomite

(3) Lignite

(4) Monozite

27. In a topographical map of scale 1 : 50000,

each square grid with 2 cm length and

2 cm breadth represents an actual area :

(1) 4 sq. km. (2) 16 sq. km.

(3) 2 sq. km. (4) 1 sq. km.

28. Identify the planetary wind from the given

hints.

Hints :

• Blows from sub-tropical highs to

sub-polar lows.

• Known as Roaring forties, furious

fifties or shrieking sixties.

(1) Trade winds

(2) Westerlies

(3) Polar winds

(4) Monsoon winds

29. Which was the first country in Asia to

industrialize ?

(1) Japan (2) China

(3) Vietnam (4) Singapore
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30. vOcVSrL v]¤yR£ "kf]jLs]j kq]&
kLa]' Wt]Rs kf]jLsLoR¾ kq]kLa]
JfLp]qOÐO ?

(1) ^¡oj]pORa v]n^jU

(2) Cãs]pORa j]qLpOi}WqeU

(3) y¡vÿqLNì yX|¾]R£ qOk}WqeU

(4) ByVNa]ppORa v]n^jU

31. \OvRa fÐ]ŸOçf]¤ SpL^]¨L¾fV
JfV ?

(1) CTðV CÍ|L   &  hLhLnLpVjvVSrL^]
ASôLy]Spx¢

(2) SlL¡SvcV    &  yOnLxV\NÎSmLyV
SmæL¨V

(3) kPj     & ^yVã]yV rLjRc
yL¡vÿ^j]WV
yn

(4) YÇ¡ kL¡Ÿ]   &  XL¢ AmVhO¥
YLl¡ XL¢

32. y~Ln]oLj NkòLj¾]R£ òLkW¢
BqLeV ?

(1) y].B¡. hLyV

(2) C.v]. qLoy~Lo] jLpV̈ ¡

(3) RRvWOeVb y~Lo]W¥

(4) v}Sqw s]UYU

30. Identify the Fourteenth point of the

‘Fourteen Points’ of Woodrow Wilson.

(1) Division of Germany

(2) Disarmament of Italy

(3) Creation of the League of Nations

(4) Division of Austria

31. Which among the following is wrongly

related ?

(1) East India     - Dadabhai Naoroji

Association

(2) Forward     - Subhash Chandra

Bloc Bose

(3) Poona     - Justice Ranade

Sarvajanik

Sabha

(4) Ghadar Party - Khan Abdul

Gaffar Khan

32. Who is the founder of the Self Respect

Movement ?

(1) C.R. Das

(2) E.V. Ramaswami Naicker

(3) Vaikunda Swamikal

(4) Veeresalingam
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33. KÐLU SsLWpOÈLjÍqU jaÐ \]s
yUnv°tLeV \OvRa j¤W]p]ŸOçfV.
AvpORa wq]pLp WLsYejL NWoU
WRº¾OW.

(a) Sk¥zL¡m¡ BNWoeU

(b) c] Sc

(c) o|Pe]WV DaÒa]

(d) SyLv]pãV & ^¡o¢ AjLNWoe
yÌ]

(1) (d), (c), (a), (b)

(2) (c), (d), (a), (b)

(3) (c), (a), (d), (b)

(4) (c), (a), (b), (d)

34. AmÿLy]hOWtORa fsòLjU WRº&
¾OW.

(1) mLYVhLhV (2) hoLyVWyV

(3) oh}j (4) RWpVRrL

35. \OvRa fÐ]ŸOçf]¤ wq]pLp S^Lc]
JfV ?

(1) n]sLp] DqO V̈ & Nm]Ÿ¢
wLs

(2) rP¡S¨s DqO V̈ & SyLv]pãV
wLs pPe]p¢

(3) RmL¨LRrL & SyLv]pãV
DqO V̈ wLs pPe]p¢

(4) hO¡YLÕP¡ & ké]o
DqO V̈ wLs ^¡oj]

36. ""iËLrOW¥'' BqLp]qOÐO ?

(1) mUYLt]Rs Ryo}ÎL¡oL¡

(2) ozLqLNìp]Rs CapyoPzU

(3) mUYLt]Rs W¡xW¡

(4) kµLm]Rs W¡xW¡

33. Some events that happened after the First

World War are given below.  Identify the

correct chronological order of them.

(a) Attack on Pearl Harbour

(b) D Day

(c) The Munich Pact

(d) The Soviet-German Non-Aggression

Pact

(1) (d), (c), (a), (b)

(2) (c), (d), (a), (b)

(3) (c), (a), (d), (b)

(4) (c), (a), (b), (d)

34. Identify the capital of the Abbasids.

(1) Baghdad (2) Damascus

(3) Medina (4) Cairo

35. Which among the following is the correct

pair ?

(1) Bhilai Steel Plant -   Britain

(2) Rourkela Steel -   Soviet Union

Plant

(3) Bokaro Steel -   Soviet Union

Plant

(4) Durgapur Steel -   West Germany

Plant

36. Who were ‘Dhangars’ ?

(1) Zamindars of Bengal

(2) Pastoral community of Maharashtra

(3) Peasants of Bengal

(4) Peasants of Punjab
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37. KÐLU vŸSow ySÚtjU jaÐòsU :

(1) j|P c¤z] (2) W¤¨Ÿ
(3) kLq}yV (4) sº¢

38. oOY¥ qLNìU j¤W]p]qOÐ vLp× IÍV
Skq]sLeV Ar]pRÕŸ]qOÐfV ?
(1) yL¾V (2) f¨v]
(3) yv¡ (4) ^o

39. 1857 &Rs v]kæv¾]R£ \]s SjfL¨&
tORa SkqOWtOU Av¡ v]kævU jp]\ÿ
òs°tOoLeV \OvRa j¤W]p]ŸOçfV.
AvRp wq]pLp] NWoRÕaO¾OW.

      

Nd`G¨¥ òm°¥

(a) jLjL yLz]mV (i) AviV

(b) m]¡^]yV XLh¡ (ii) mSrs]

(c) oTsv] 

AzÚhOç

(iii) WL¢kP¡

(d) XL¢ mzhP¡ 

XL¢

(iv) RRlyLmLhV

(a) (b) (c) (d)

(1) (iii) (ii) (iv) (i)

(2) (iii) (iv) (ii) (i)

(3) (iv) (i) (iii) (ii)

(4) (iii) (i) (iv) (ii)

40. 1953 &¤ qPk}Wq]\ÿ yUòLjkOj&
yUZajL WÚ}xj]¤ AUYosæLf]qO&
ÐfV BqLp]qOÐO ?
(1) I\ÿV.I¢. WO¢NyO
(2) RW.IU. ke]¨¡
(3) v].k]. SoSjL¢
(4) ly¤ As]

37. The First Round Table Conference was

held in :

(1) New Delhi (2) Calcutta

(3) Paris (4) London

38. The loans provided by the Mughal state

was known as :

(1) Zat (2) Taccavi

(3) Sawar (4) Jama

39. The names of some leaders of the Revolt

of 1857 and the places where they led the

Revolt are noted below.  Match them

correctly.

        

(a) Nana Sahib (i) Awadh

(b) Birjis Qadr (ii) Bareilly

(c) Maulavi 

Ahmadullah

(iii) Kanpur

(d) Khan Bahadur 

Khan

(iv) Faizabad

Leaders Places

(a) (b) (c) (d)

(1) (iii) (ii) (iv) (i)

(2) (iii) (iv) (ii) (i)

(3) (iv) (i) (iii) (ii)

(4) (iii) (i) (iv) (ii)

40. Who was NOT a member of the States

Reorganisation Commission constituted in

1953 ?

(1) H.N. Kunzru

(2) K.M. Panicker

(3) V.P. Menon

(4) Fazl Ali
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41. 3, 4, 5 IÐ} yUX|W¥ RWLºV
zq]¨OSÒL¥ 2 w]ìU vqOÐ JãvOU
R\r]p 3 A¨ yUX| WRº¾OW.
(1) 115 (2) 122

(3) 124 (4) 134

42. 72020 IÐ yUX|pORa AvyLj qºV
A¨°¥ IÍLeV ?
(1) 01 (2) 11

(3) 71 (4) 61

43. ÷

18
17

16
15 7  IÐf]R£ w]ìU WLeOW.

(1) 1 (2) 2

(3) 3 (4) 4

44. 63+73+83+93+103 \OvRapOç JfV
yUX|pLeV ?
(1) 2800 (2) 1925

(3) 2925 (4) 1800

45. Bh|R¾ 10 I¹¤ yUX|WtORa
v¡«R¾ KSqLÐ]SjpOU 2 RWLºV
YOe]¨OWpOU 1 WPŸOWpOU R\pÅO
W]ŸOÐ yUX|WtORa wqLwq]
IÍLeV ?
(1) 38.5 (2) 78

(3) 77 (4) 39

46. KqO RfLu]sLt]pORa SvfjU Bh|U 10%

v¡È]Õ]¨OWpOU k]RÐ 10%

WOr¨OWpOU R\pÅL¤ Svfj¾]Rs
v|f|LyU IÍLeV ?
(1) 1% v¡È]\ÿO
(2) 2% v¡È]\ÿO
(3) 1% WOr´O
(4) 2% WOr´O

41. Find the smallest 3-digit number, which

when divided by 3, 4 and 5 leaves the

remainder 2.

(1) 115 (2) 122

(3) 124 (4) 134

42. Which are the last two digits of the number

72020 ?

(1) 01 (2) 11

(3) 71 (4) 61

43. Find the remainder of ÷

18
17

16
15 7  :

(1) 1 (2) 2

(3) 3 (4) 4

44. 63+73+83+93+103 is equal to :

(1) 2800 (2) 1925

(3) 2925 (4) 1800

45. The first ten natural numbers are squared,

each is then multiplied by 2 and 1 is added

to each.  Find the average of the resulting

number.

(1) 38.5 (2) 78

(3) 77 (4) 39

46. The salary of a worker is first increased by

10% and thereafter decreased by 10%.

What is the change in his salary ?

(1) Increased by 1%

(2) Increased by 2%

(3) Decreased by 1%

(4) Decreased by 2%
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47. KqO W\ÿva¨Lq¢ KqO qPk V̈ 2 I¹U
IÐ j]q¨]¤ jLq° vL°OWpOU 3

qPk¨V 5 I¹U IÐ j]q¨]¤
v]¤¨OWpOU R\pÅL¤ sLnU
INfpLeV ?
(1) 15% (2) 20%

(3) 10% (4) 25%

48. KqO fOW 3 v¡xS¾¨V yLiLqe
ks]wj]q¨]¤ j]Sƒk]\ÿO IÐO
WqOfOW.  ks]wj]q¨V 2% v¡È]&
Õ]\ÿL¤ 5100 qPk Ai]WU sn]¨O&
oLp]qOÐO.  j]Sƒk]\ÿ fOW INfpLeV?
(1) ` 75,000 (2) ` 60,000

(3) ` 85,000 (4) ` 62,500

49. 2 1
  

3 2

x

y
=  BpL¤   1

  
  7

x y

x y

−
+

+

 &R£ v]s

WLeOW.

(1) 1 (2) 2

(3) 0 (4) −1

50. KqO oPÐ¨yUX|pORa Bh|R¾
qº¨U 3, 2.  oRãLqO oPÐ¨yUX|pORa
Bh|R¾ qº¨U 2, 5.  yUX|WtORa
fOW 584, v|f|LyU 66. AvyLj
A¨°¥ fÚ]sOç AUwmÌU
IÍLeV ?
(1) 11 : 15 (2) 1 : 1

(3) 7 : 11 (4) 5 : 9

51. 777x+666y=1332, 666x+777y=111

BpL¤ x+y &pORa v]s.

(1) 1 (2) 2

(3) 3 (4) 4

47. A fruit seller buys lemons at 2 for a rupee

and sells them at 5 for three rupees.  What

is his profit ?

(1) 15% (2) 20%

(3) 10% (4) 25%

48. A certain amount of money was invested

for 3 years paying simple interest.  If the

rate of interest had been 2% higher, it

would have fetched ` 5,100 more.  What

was the amount deposited ?

(1) ` 75,000 (2) ` 60,000

(3) ` 85,000 (4) ` 62,500

49. If 2 1
  

3 2

x

y
= , then find the value of

  1
  

  7

x y

x y

−
+

+
.

(1) 1 (2) 2

(3) 0 (4) −1

50. The first two digits of a three digit number

are 3 and 2; and the first two digit of

another three digit number are 2 and 5.

The sum of the numbers is 584 and the

difference is 66.  What is the ratio of the

last digits of the numbers ?

(1) 11 : 15 (2) 1 : 1

(3) 7 : 11 (4) 5 : 9

51. If 777x+666y=1332 and

666x+777y=111, then the value of x+y

is :

(1) 1 (2) 2

(3) 3 (4) 4
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52.
1 1
 

a b
+ =1 BpL¤ fÐ]q]¨OÐ qºLU

WQf] yovLW|°t]¤ a &pOU b &pOU
kq]zLqoPs|oLp] vqOvL¢ yLi|f
Jf]jLeV ?

(1) x2+4x+4=0

(2) x2−3x−3=0

(3) x2−2x+2=0

(4) x2+5x−10=0

53. KqO zLt]¤ 10 vLf]sOW¥ DºV.
KqL¥ V̈ INf q}f]p]¤ KqO vLf]s]sPRa
WprOWpOU v|f|ñoLp vLf]s]sPRa
kOr¾O SkLWOWpOU R\áLU ?

(1) 100 (2) 110

(3) 80 (4) 90

54. 2 5+  KqO kq]zLqoLp qºLU

WQf]yovLW|U :

(1) x2+4x+1=0

(2) x2−4x−1=0

(3) x2−4x+1=0

(4) x2+4x−1=0

55. KqO yo\fOq¾]R£ mLz|vQ¾&
¾]R£pOU AÍ¡vQ¾¾]R£pOU
kqÕtvOWtORa AUwmÌU :

(1) 1 :  2 (2) 2  :  1

(3) 3 :  2 (4) 2 : 1

52. If  
1 1
 

a b
+ =1, then which of the following

can be the quadratic equation whose roots

are a and b ?

(1) x2+4x+4=0

(2) x2−3x−3=0

(3) x2−2x+2=0

(4) x2+5x−10=0

53. In a hall there are 10 doors.  In how many

ways can a man enter the hall through one

door and come out through a different

door ?

(1) 100 (2) 110

(3) 80 (4) 90

54. If one root of a quadratic equation is

2 5+ , then the equation is :

(1) x2+4x+1=0

(2) x2−4x−1=0

(3) x2−4x+1=0

(4) x2+4x−1=0

55. The ratio of the areas of circumcircle and

incircle of square is :

(1) 1 :  2 (2) 2  :  1

(3) 3 :  2 (4) 2 : 1
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56. KqO yLoLÍq]W¾]R£ qºV vw°¥,
KqO v]W¡eU IÐ]v pgLNWoU

7 Ry.o}., 23  Ry.o}., 6 Ry.o}. BeV.
oSã v]W¡e¾]R£ j}tU WLeOW.

(1) 8 Ry.o}. (2) 6 3  Ry.o}.

(3) 6 2  Ry.o}. (4) 7 2  Ry.o}.

57. \]Nf¾]¤ KqO pPe]ãV vwoOç
yo\fOqvOU oPsWt]¤ KSq vs]ÕoOç
vQ¾LUwU vq\ÿ]q]¨OÐO.  RxpVcV
R\pÅ]q]¨OÐ vQ¾¾]R£ v|LyU
INfpLeV ?

(1) 2   1−
(2) 3  1−

(3) 0.41 (4) 0.732

58. A(−2, 1), B(1, 4), C(−2, −4) IÐ]°Rj
m]ÎO¨¥ IaO¾L¤ AB, BC CvpORa
Cap]sOç SWL¦ INf c]NY]pLeV ?

(1) 1008 (2) 1158

(3) 1358 (4) 1458

56. In a parallelogram the length of two sides

and one diagonal are 7 cm, 23  cm and

6 cm respectively.  Find the length of the

other diagonal.

(1) 8 cm (2) 6 3 cm

(3) 6 2 cm (4) 7 2 cm

57. The figure given below has a square of

1 unit and equal sectors centred at each

vertex.  What is the diameter of the shaded

circle ?

(1) 2   1−
(2) 3  1−

(3) 0.41 (4) 0.732

58. If A(−2, 1), B(1, 4) and C(−2, −4) are

three points, then find the angle between

AB and BC.

(1) 1008 (2) 1158

(3) 1358 (4) 1458
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59. \]Nf¾]¤ ABC IÐ Nf]SWLe¾]¤
AC=2, ∠A=608, ∠C=758 BeV.  BC

&pORa j}tU WLeOW .

(1) 3 (2) 5

(3) 2 (4) 6

60. \]Nf¾]¤ O SWNÎoLp KqO pPe]ãV
vQ¾vOU Af]Ss¨Oç RfLaOvqW¥
AB, AC IÐ]v vq\ÿ]q]¨OÐO.
∠A=608 BReË]¤ \fO¡nO^U ABOC

&pORa kqÕtvV WLeOW.

(1) 6 (2) 2 3  3−

(3) 3 (4) 2 3

59. The figure shows a triangle ABC with

AC=2, ∠A=608, ∠C=758.  Find the

length of the side BC.

(1) 3 (2) 5

(3) 2 (4) 6

60. The figure shows a unit circle with centre

O and AB, AC are tangents.  If ∠A=608,

find the area of the quadrilateral ABOC.

(1) 6 (2) 2 3  3−

(3) 3 (4) 2 3
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61. 16 Ω Nkf]SqLiU Dç KqO WÒ] vt\ÿV
vQ¾LWQf]p]¤ v\ÿ]q]¨OÐfLeV
\]Nf¾]¤ WLeOÐfV.  v|LyLNY°¥
Bp] vqOÐ A, B IÐ} m]ÎO¨¥&
¨]ap]Rs Nkf]SqLiU INf ?

(1) 16 Ω (2) 4 Ω

(3) 32 Ω (4) 8 Ω

62. fLRuÕrpOÐ NkñLvjWt]¤
wq]pLpSffV ?

(1) KqO SWL¦SWvV o]r¡ ISÕLuOU
vñOv]R£ fsW}uLp Nkf]&
m]UmU DºL¨OÐO.

(2) SWL¦RvWõV o]r¡ ISÕLuOU
vñOv]Rj¨L¥ vs]p Nkf]&
m]UmU DºL¨OÐO.

(3) SWL¦SWvV o]r¡, SWL¦RvWõV
o]r¡ Cv qº]jOU vñOv]Rj&
¨L¥ vs]p Nkf]m]UmU
DºL¨L¢ Wu]pOU.

(4) SWL¦SWvV o]r r]jV vñOv]Rj&
¨L¥ vs]p Nkf]m]UmU
DºL¨L¢ Wu]pOU.

61. A wire of resistance 16 Ω is bent in the

form of a circle as shown.  The effective

resistance between the diametrically

opposite points A and B will be :

(1) 16 Ω (2) 4 Ω

(3) 32 Ω (4) 8 Ω

62. Which of the following statement is

correct ?

(1) a concave mirror always produces

inverted image.

(2) a convex mirror always produces

enlarged image.

(3) both convex mirror and concave

mirror can produce enlarged image.

(4) a concave mirror can produce

enlarged image.
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63. KqO m¥m]¤ 100 W, 220 V IÐV
SqXRÕaO¾]p]q]¨OÐO.  Cf]Rj 110 V

kv¡ yRRkæp]¤ DkSpLY]\ÿL¤
Af]R£ kv¡ DkSnLYU INf ?

(1) 100 W (2) 50 W

(3) 25 W (4) 200 W

64. yoLjoLp qºV kÍOW¥ pgLNWoU
v, 2v SvYfp]¤ oOWt]SsR¨r]pOÐO.
Av I¾]S\ÿqOÐ Dpq°tORa
AjOkLfvOU kqoLvi] Dpq¾]¤
I¾L¢ IaO¾ yop°tORa
AjOkLfvOU pgLNWoU :

(1) 1 : 2 DU 1 : 2 DU

(2) 1 : 4 DU 1 : 2 DU

(3) 1 : 2 DU 1 : 4 DU

(4) 1 : 4 DU 1 : 4 DU

65. KqO yofsh¡Õe¾]Ss¨V 5 m/s

SvYfp]¤ KqO vñO j}°OÐORvË]¤
vñOv]Rj ASkƒ]\ÿV Nkf]m]UmU
j}°OÐSvYU :

(1) 5 m/s (2) 2.5 m/s

(3) 10 m/s (4) 20 m/s

66. AC ^jSrãrOU DC ^jSrãrOU fÚ]¤
Zajp]¤ Dç v|f|LyU :

(1) l}¤cV WLÍ°tORa BWQf]p]¤

(2) B¡So\ÿ¡ SWLp]sOWtORa BWQ&
f]p]¤

(3) B¡So\ÿr]¤ Za]Õ]\ÿ]q]¨OÐ
r]°OWt]¤

(4) WL¡m¦ NmxOWt]¤

63. A bulb marked 100 W, 220 V is connected

to a 110 V power supply.  The power

consumed by the bulb will be :

(1) 100 W (2) 50 W

(3) 25 W (4) 200 W

64. Two identical balls are thrown vertically

up with velocities v and 2v.  The ratios of

maximum heights reached by them and

time taken to reach the maximum heights

are respectively :

(1) 1 : 2 and 1 : 2

(2) 1 : 4 and 1 : 2

(3) 1 : 2 and 1 : 4

(4) 1 : 4 and 1 : 4

65. An object approaches a plane mirror with

a speed of 5 m/s.  The speed with which

the image moves with respect to the object

will be :

(1) 5 m/s (2) 2.5 m/s

(3) 10 m/s (4) 20 m/s

66. Structurally AC generator and DC

generator differ only in :

(1) shape of field magnets

(2) shape of armature coil

(3) rings attached to armature coils

(4) carbon brushes
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67. 10 o}ã¡ BqoOç KqO vQ¾kLfp]sPRa
KLa]R¨Lº]q]¨OÐ KqO WL¡
vQ¾kLfpORa jLs]¤ oPÐV nLYU
kP¡¾]pL¨OSÒL¥ yµq]\ÿ hPqvOU
òLjLÍqvOU pgLNWoU :

(1) 47.1 m DU 14.1 m DU BeVV

(2) 31.4 m DU 10 m DU BeVV

(3) 47.1 m DU 10 m DU BeVV

(4) 31.4 m DU 14.1 m DU BeVV

68. \OvRa fÐ]q]¨OÐf]¤ Jf]sLeV
Nhv|U DT¡²oLp] oLrOÐfV ?

(1) Wq]¨Ÿ W¾OÐfV

(2) oR¹¹ W¾OÐfV

(3) j|PWæ]p¡ r]pLW›¡

(4) Cvp]RssæLU

69. vLpOv]¤ wmÉ¾]R£ SvYU 340 o}ã¡/
Ry¨¢cV  BpL¤ ojOx|jV ève
yLi|oLp wmÉ¾]R£ fqUYRRh¡Z|&
¾]R£ kq]i] :

(1) 20 m oOf¤ 20,000 m vRq

(2) 17 mm oOf¤ 17,000 mm  vRq

(3) 20 Hz oOf¤ 20,000 Hz vRq

(4) 1.7 m oOf¤ 170 m vRq

70. \OvRa fÐ]q]¨OÐf]¤ nPo]pOU
yPq|jOU fÚ]sOç wqLwq] hPqU
AsæL¾SffV ?

(1) 1 B°VyVNaU pPe]ãV

(2) 1.5×1011 o}ã¡

(3) 1 AyVSNaLeo]¨¤ pPe]ãV

(4) 500 NkWLw Ry¨¢cV

67. A car moving on a circular path of radius

10 m completes three-fourth of the circular

path.  The distance travelled and

displacement will be respectively :

(1) 47.1 m and 14.1 m

(2) 31.4 m and 10 m

(3) 47.1 m and 10 m

(4) 31.4 m and 14.1 m

68. In which of the following cases, matter is

converted into energy ?

(1) burning of charcoal

(2) burning of kerosene

(3) nuclear reactor

(4) all the above

69. If the speed of sound in air is 340 m/s, the

wavelength range audible to human :

(1) 20 m to 20,000 m

(2) 17 mm to 17,000 mm

(3) 20 Hz to 20,000 Hz

(4) 1.7 m to 170 m

70. Which of the following does not represent

the mean distance between the earth and

the sun ?

(1) 1 angstrom unit

(2) 1.5×1011 m

(3) 1 astronomical unit

(4) 500 light second
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71. lLq¢z}ãV yVRWp]s]¤ NkñLv]¨O&
SÒL¥ yLi|oLp JãvOU fLuVÐ
fLkj]s :

(1) −4858F (2) 08F

(3) −2738F (4) −4598F

72. NkWLwU KqO oLi|o¾]¤ j]ÐV NkWLw
yLNÎfp]¤ v|f|LyoOç oRãLqO
oLi|o¾]Ss¨V Wa¨OSÒL¥ oLãU
vqL¾fV JfV ?

(1) SvYf

(2) fqUYRRh¡Z|U

(3) BvQ¾]

(4) CvRpLÐOosæ

73. mô]¤ Cq]¨OÐ KqO pLNf¨Lq¢
oOWt]Ss V̈ KqO WsæV Ir]pOÐO.  \OvRa
fÐ]q]¨OÐf]¤ JRfsæLU yÎ¡n&
°t]¤ BeV WsæV f]q]RW BpLtORa
Wá]¤fRÐ I¾]S\ÿqOÐfV ?

(a) myV j]¡¾]p]Ÿ]q]¨OSÒL¥

(b) myV yoLj SvYfp]¤ Sj¡
SqXp]¤ \s]¨OSÒL¥

(c) myV yoLjf~qeS¾LaOWPa]
\s]¨OSÒL¥

(d) myV v¡¾Ot kLfp]sPRa yoLj
SvYfp]¤ yµq]¨OSÒL¥

(1) (a) oLNfU

(2) (a)&pOU (b)&pOU oLNfU

(3) (a)&pOU (b)&pOU (c)&pOU oLNfU

(4) (a)&pOU (b)&pOU (d)&pOU oLNfU

71. The lowest possible temperature, when

expressed in Fahrenheit scale is :

(1) −4858F (2) 08F

(3) −2738F (4) −4598F

72. When light enters from one medium to

another medium of different optical

densities which of the following remains

unchanged ?

(1) speed

(2) wavelength

(3) frequency

(4) none of these

73. A passenger inside a bus throws a stone

vertically up.  In which of the following

situations the stone returns to his own

hands ?

(a) When the bus is at rest.

(b) When the bus is moving with

uniform speed in a straight line.

(c) When the bus is moving with

uniform acceleration.

(d) When the bus is moving in a curved

path with uniform speed.

(1) (a) only

(2) (a) and (b) only

(3) (a), (b) and (c) only

(4) (a), (b) and (d) only



ENG+MAL 24

Class – X SAT A

74. 25 kg WL¤y|U WL¡mSeã]Rj
(80% wOÈU) fLk}pv]ZajU ja¾]&
pL¤ sn]¨OÐ WL¤y|U KLWVRRy&
c]R£ AtRvNf ?
(1) 14 kg (2) 11.2 kg

(3) 7 kg (4) 5.6 kg

75. fLRu fÐ]q]¨OÐvp]¤ JãvOU
WPaOf¤ Bã°¥ Aa°]p]q]¨OÐfV
Jf]sLeV ?
(1) 24 g CH

4
(2) 28 g CO

(3) 34 g NH
3

(4) 36 g H
2
O

76. \OvRa jsVW]p]q]¨OÐvp]¤ h~]&
yUSpL^W ASpL¦ JfV/ASpL&
eOW¥ Jv ?
(1) RRcSNWLSoãV

(2) oLUYSjãV
(3) KLWVySsãV
(4) oOWt]¤ kr´RfsæLU

77. \OvRa jsVW]p]q]¨OÐvp]¤ AsO&
o]j]pU BãU CsæL¾fO Jf]¤ ?
(1) AsOo]j
(2) SmLWVRRyãV
(3) WL¡eRRsãV
(4) NWSpLRRsãV

78. 2

4CrO , 
−

 

4MnO
−,  

3
4VO
− ASpLeOWRt

Avp]Rs SsLzBã¾]R£ KLWVy}&

WqeLvòpORa AvSqLze&
NWo¾]¤ v]j|y]\ÿL¤ AfV INkWLq&
oLp]q]¨OU ?
(1) Mn > Cr > V (2) V > Cr > Mn

(3) V > Mn > Cr (4) Mn > V > Cr

74. The amount of calcium oxide obtained by

heating 25 kg of calcium carbonate

(80% pure) is :

(1) 14 kg (2) 11.2 kg

(3) 7 kg (4) 5.6 kg

75. Which among the following has the

maximum number of atoms ?

(1) 24 g of CH
4

(2) 28 g of CO

(3) 34 g of NH
3

(4) 36 g of H
2
O

76. Which among the following ion is

divalent ?

(1) Dichromate

(2) Manganate

(3) Oxalate

(4) All the above

77. Which among the following does not

contain an aluminium atom ?

(1) Alumina

(2) Bauxite

(3) Carnalite

(4) Cryolite

78. The metal present in the ions, 2

4CrO , 
−

4MnO
− and 3

4VO
− , when arranged in the

decreasing order of their oxidation states

follows the order :

(1) Mn > Cr > V (2) V > Cr > Mn

(3) V > Mn > Cr (4) Mn > V > Cr
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79. RRySWæLm|ORŸpVj]R£ qLyyPNfU
JfV ?

(1) C
4
H
4

(2) C
4
H
6

(3) C
4
H
8

(4) C
4
H
10

80. HCl vLfW¾]R£ ^siLq kq}ƒeU
vLfW¾]R£ IÍV y~nLvoLeV
v|©oL¨OÐfV ?

(1) ^svOoLp] CT vLfW¾]jOç
Dp¡Ð qLyNkv¡¾jU

(2) CT vLfW¾]jO ^s¾]sOç
Dp¡Ð Sspf~U

(3) vLfW¾]R£ KLWVy}Wqe
y~nLvU

(4) vLfW¾]R£ j]SqLWVy}Wqe
y~nLvU

81. Szm¡ NkNW]p JfV khL¡À¾]R£
v|LvyLp]W j]¡ÚLevOoLp] mÌ&
RÕŸfLeV ?

(1) RaSlæL¦

(2) ASoLe]p

(3) RRjNa]WV By]cV

(4) y¥l|Pq]WV By]cV

82. WL¤y|U WL¡RRmcV ^svOoLp]
Nkv¡¾]¨OSÒL¥ DºLWOÐ vLfW&
SofV ?

(1) Ayã]s]¢

(2) CTRfpV¢

(3) RRzNc^¢

(4) WL¡m¦RRcKLWVRRycV

79. The chemical formula of cyclobutane is :

(1) C
4
H
4

(2) C
4
H
6

(3) C
4
H
8

(4) C
4
H
10

80. Fountain experiment of HCl gas

demonstrates :

(1) the high reactivity of the gas with

water

(2) the high solubility of the gas in water

(3) the oxidising nature of the gas

(4) the reducing nature of the gas

81. Haber process is associated with the

industrial preparation of :

(1) Teflon

(2) Ammonia

(3) Nitric acid

(4) Sulphuric acid

82. Which gas is liberated when calcium

carbide reacts with water ?

(1) acetylene

(2) ethane

(3) hydrogen

(4) carbon dioxide



ENG+MAL 26

Class – X SAT A

83. \]s oPsW°tORa ASãLo]W oLôV
n]ÐyUX| Bp] WLeLrOºV.  Cf]jO
WLqeRoÍLp]q]¨OU ?

(1) ASãLo]WfpORa v|f|LyU

(2) Bã°¥ v|f|yVf ASpLeOW¥
DºLWOÐf]jL¤

(3) oPsW°¥¨O RISyLmLrOW¥
Dçf]jL¤

(4) oPsW°¥¨O RISyLSŸLÕOW¥
Dçf]jL¤

84. KqO ðL¢Sc¡cV læLyVW]¤ 60 g

SyLc]pU RRzSNcLWVRRycV ^s&
¾]¤ sp]Õ]\ÿO 1000 mL B¨]pL¤
sn]¨OÐ sLpj]pORa SoLtLq]ã]
INf ?

(1) 0.6 M (2) 1.2 M

(3) 1.5 M (4) 2 M

85. \OvRa jsVW]p]q]¨OÐf]¤ nTf]W
oLã¾]jV DhLzqeSofV ?

(1) RouOWOf]q] W¾OÐfV

(2) WL¤y]pU KLWVRRyc]Ss¨V
^sU S\¡¨OÐfV

(3) NkWLwyUSwæxeU

(4) ASpLc]R£ DfVkfjU

83. Certain elements have fractional atomic

mass.  This is due to the :

(1) difference in atomicity

(2) formation of ions by the atoms

(3) existence of isobars of the element

(4) existence of isotopes of the element

84. 60 g of sodium hydroxide is dissolved in

water and made upto 1000 mL in a

standard flask.  The molarity of the

resultant solution is :

(1) 0.6 M (2) 1.2 M

(3) 1.5 M (4) 2 M

85. Which among the following is an example

for physical change ?

(1) Burning of candle

(2) Adding water to calcium oxide

(3) Photosynthesis

(4) Sublimation of iodine



ENG+MAL 27 P.T.O.

Class – X SAT A

86. (CH
3
)
3
C−CH

2
−CH

2
−CH(C

2
H
5
)−CH

3

IÐ B¤RWpVj]R£ IUPAC jLoU
JfV ?

(1) 2,2,5-RRNao}RRf¤RzkVRãpV¢

(2) 5-CTRRf¤-2,2-RRco}RRf¤ -

RzWVRypV¢

(3) 2-CTRRf¤-5,5-RRco}RRf¤ -

RzWVRypV¢

(4) 1,1,1-RRNao}RRf¤-4-CTRRf¤&
RkR£pV¢

87. RjSNlLeOWtORa i¡ÚU :

(1) hzjU

(2) BSvY°tORa NkyqeU

(3) v]y¡^jU

(4) yUvzjU

88. SYæLS¨LoRp yUmÌ]\ÿ V wq]&
psæL¾fV f]qR´aO¨OW.

(1) AW~yV Nhv¾]R£ kOjqLY]qeU
ja¨OÐ]sæ

(2) W¹]Rs Rs¢yV AfLq|oLWOÐO

(3) Ssy¡ wyVNfNW]pp]sPRa kq]&
zq]¨LvOÐfLeV

(4) W¹]jOç]Rs o¡ÇU WPaOÐO

86. The IUPAC name of the alkane

(CH
3
)
3
C−CH

2
−CH

2
−CH(C

2
H
5
)−CH

3

is :

(1) 2,2,5-trimethylheptane

(2) 5-ethyl-2,2-dimethylhexane

(3) 2-ethyl-5,5-dimethylhexane

(4) 1,1,1-trimethyl-4-ethyl-pentane

87. Nephrons are involved in :

(1) Digestion

(2) Impulse transmission

(3) Excretion

(4) Transportation

88. Choose the statement which is not true

about glaucoma.

(1) Reabsorption of aqueous humor does

not occur

(2) Lens of the eyes become opaque

(3) Can be rectified by laser surgery

(4) Pressure inside the eyes increases
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89. RRs¨¢ IÐ ^}v]mÌ¾]¤ D¥&
RÕŸ]q]¨OÐfV ?

(1) B¤YpOU mLWVa}q]ppOU

(2) lUYyOU SvqOU

(3) lUYyOU mLWVa}q]ppOU

(4) B¤YpOU lUYyOU

90. r]lVtWVyV Nkv¡¾j¾]Rs BSvY&
°tORa wq]pLp yµLqkLf f]q&
R´aO¨OW.

(1) DÇ}kjU → yUSvhjLc] →

SNkqWjLc] → C£¡j|PSrL¦ →

NYLz] → mÌRÕŸ Skw]

(2) DÇ}kjU → NYLz] →

yUSvhjLc] → C£¡j|PSrL¦ →
SNkqWjLc] → mÌRÕŸ Skw]

(3) DÇ}kjU → SNkqWjLc] →

mÌRÕŸ Skw] → yUSvhjLc]
→ NYLz] → C£¡j|PSrL¦

(4) DÇ}kjU → mÌRÕŸ Skw] →

yUSvhjLc] → SNkqWjLc] →

C£¡j|PSrL¦ → NYLz]

91. ^s¾]sPRa kWqOÐ SqLY°¥
D¥RÕaOÐ KLkVx¢ f]qR´aO¨OW.

(1) SWLtrpOU RRaSlLpVcOU

(2) RaãjyOU RRaSlLpVcOU

(3) SWLtrpOU oSsr]ppOU

(4) RaãjyOU ƒpvOU

89. Lichen is the association between :

(1) Alga and Bacteria

(2) Fungus and Roots

(3) Fungus and Bacteria

(4) Alga and Fungus

90. Choose the correct pathway of impulses

in a reflex action.

(1) Stimulus → Sensory neuron → Motor

neuron → Interneuron → Receptor

→ Related muscle

(2) Stimulus → Receptor → Sensory

neuron → Interneuron → Motor

neuron → Related muscle

(3) Stimulus → Motor neuron → Related

muscle → Sensory neuron →

Receptor → Interneuron

(4) Stimulus → Related muscle →

Sensory neuron → Motor neuron →

Interneuron → Receptor

91. Identify the group which includes water

borne diseases.

(1) Cholera and Typhoid

(2) Tetanus and Typhoid

(3) Cholera and Malaria

(4) Tetanus and Tuberculosis
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92. By|qjVNiU fOr¨OÐfOU AapOÐfOU
j]pNÍ]¨OÐfV  :

(1) Rs£]RysæOW¥

(2) zq]fWeU

(3) SWLUkæ]Ro£r] SWLw°¥

(4) WLv¤ SWLw°¥

93. NnPeLvyVgp]SsL RRwwvLvyVg&
p]SsL RRfSrLWVy]¢ sn|f WOrpOÐfV
oPsoOºLWOÐ AvòpLeV :

(1) SYLp]ã¡

(2) SNYvVyV SqLYU

(3) RNWã]j]yU

(4) o]WVRyc]o

94. KLWVy]^SjLaV vtRqpi]WU Nkf]k¾]
Dç KqO w~yj v¡¹WU BeV :

(1) SYæLmOs]¢

(2) z}SoLSYæLm]¢

(3) WSqLŸ]¢

(4) RrLScLkVy]¢

92. The opening and closing of stomata is

regulated by :

(1) Lenticels

(2) Chloroplast

(3) Complimentary cells

(4) Guard cells

93. The deficiency of thyroxine during the

foetal stage or infancy leads to a condition

called :

(1) Goitre

(2) Graves disease

(3) Cretinism

(4) Myxoedema

94. A respiratory pigment which has high

affinity for oxygen is :

(1) Globulin

(2) Haemoglobin

(3) Carotene

(4) Rhodopsin
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95. j¤W]p]q]¨OÐ KLkVxjOWt]¤ j]ÐV
wq]pLp] S^La] S\¡ÐvRp
f]qR´aO¨OW.

   (a) RRzSÕLfsLoyV & ARRj±]W
Nkv¡¾j°¥
j]pNÍ]¨OÐO.

   (b) ozLioj]     & wq}q¾]R£ v]v]i
nLY°t]Ss¨V
q©U I¾]¨OÐO.

   (c) BWVSyL¦     & RfLŸaO¾
j|PSrLe]¤ j]ÐV
ySÎw°¥
y~}Wq]¨OÐ nLYU.

   (d) vQ¨Lioj]     & vQ¨p]Ss¨V
q©U
I¾]¨OÐO.

(1) (b) DU (d) DU (2) (b) DU (c) DU

(3) (a) DU (c) DU (4) (a) DU (b) DU

96. v]n^jU IÐ NkNW]pp]sPRa Nkf|O¤&
ÕLhjU ja¾L¾ ^}v]pLeV :

(1) kæLyVSoLc]pU (2) RRzNc

(3) Ao}m (4) mLWVa}q]p

97. \OvRa j¤W]pvp]¤j]ÐV wq]pLp
NkyVfLvj f]qR´aO¨OW.

(1) Kã yVfq¾L¤ BvqeU R\á&
RÕŸ SWLwLUYoLeV zq]fWeU.

(2) yy|SWLw°t]¤ Slj°¥
WLeRÕaOÐ]sæ.

(3) RRrSmLSyLoOW¥ s]Õ]cV j]¡&
Ú]¨OÐO.

(4) CqŸ yVfq¾L¤ BvqeU R\á&
RÕŸ SWLwLUYoLeV RRoSãL&
SWL¦Nc]SpL¦.

95. Choose the correctly matched pairs from

the options given.

(a) Hypothalamus - Controls involuntary

actions

(b) Aorta - Carries blood to

various parts of the

body

(c)  Axon - Receives impulses

from the adjacent

neuron

(d) Renal artery - Carries blood to the

kidney

(1) (b) and (d) (2) (b) and (c)

(3) (a) and (c) (4) (a) and (b)

96. Choose the organism which does not

reproduce through fission :

(1) Plasmodium (2) Hydra

(3) Amoeba (4) Bacteria

97. Choose the correct statement from the

following :

(1) Chloroplast is a single membrane

bound organelle.

(2) Vacuoles are absent in plant cell.

(3) Ribosomes are involved in lipid

synthesis.

(4) Mitochondrion is a double

membrane bound organelle.
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98. \OvRa j¤W]p]q]¨OÐvp]¤ NkLgo]&
Wfs Nkf]SqLi¾]¤ D¥RÕaL¾fV
JfV ?

(1) R\v]p]Rs RouOWV

(2) f~¨]Rs RWqLã]¢

(3) q©¾]Rs j|PSNaLl]sOW¥

(4) W¹Oj}q]¤ Aa°]p]q]¨OÐ
RRsSyLRRyU

99. \OvRa j¤W]pvp]¤ qLySNaLk]W
\sj¾]jV DhLzqeU JfV ?

(1) vç]R\ÿa] fL°]¤ \Oã] vtqOÐfV

(2) WLeVcU ^s¾]R£ If]¡
h]wp]¤ vtqOÐfV

(3) SvqV NkWLw¾]R£ If]¡
h]wp]¤ vtqOÐfV

(4) kqLYjLt] A¼Lwp¾]jaO&
S¾¨O vtqOÐfV

100. ASoLSeLRas]WV ^}v]Rp WRº¾OW.

(1) fvt (2) ofVy|U

(3) xcVkhU (4) ksæ]

- o 0 o -

98. Which one of the following is not a part of

first level defense ?

(1) Wax in the ear

(2) Keratin in skin

(3) Neutrophils in the blood

(4) Lysozyme present in tears

99. Which one of the following is an example

of chemotropism ?

(1) Growth of climbers towards a

support

(2) Growth of stem away from water

(3) Growth of root away from light

(4) Growth of pollen tube towards the

ovary

100. Identify the ammonotelic organism.

(1) Frog (2) Fish

(3) Insect (4) Lizard

- o 0 o -
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